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SH6E2H298 K%
X% HEDSEEH [1AET [2Af#E [SAHE [4AHE [SAHES [6 At [7FAUEDHGE
2Z—TH 57 22 17 13 5 0 0 0
2E=_TH 64 33 21 0 7 1 2 0
B2E=TH 9 4 1 1 1 1 0 1
HIL—TH 438 251 64 51 57 14 1 0
¥IL=TH 863 243 270 170 142 35 3 0
¥IL=TH 234 67 77 48 31 8 1 2
BWLMTH 184 60 49 35 34 6 0 0
BILATH 657 318 170 95 49 17 5 3
£RI—TH 199 94 68 17 18 2 0 0
£RI=TH 423 195 111 55 44 16 2 0
SE—TH 130 42 25 23 27 9 2 2
SEZTH 72 31 17 11 9 2 1 1
SHE=TH 369 90 68 74 103 26 7 1
SEMTH 250 40 28 52 86 41 2 1
SEERTH 18 3 7 3 4 0 1 0
SEATH 95 45 22 14 11 2 1 0
SEtTH 763 251 300 132 62 16 1 1
WA 59 21 18 6 9 3 2 0
AR 354 149 99 48 41 15 2 0
N 194 46 41 29 55 20 3 0
A de 272 122 84 43 13 9 0 1
wEUE—TH 449 159 144 69 64 10 3 0
BEILE_-TH 501 179 163 73 68 14 3 1
AmILUE=TH 299 95 86 49 52 12 5 0
ALUEMTH 985 598 258 85 29 11 2 2
AILUERTH 1,089 598 334 110 36 10 1 0
AmILUEARTH 559 202 198 89 53 16 0 1
KEFFa 406 149 104 61 57 31 4 0
KHBE—TH 587 215 189 93 70 18 0 2
KBEZTH 494 161 164 100 51 16 2 0
KHBE=ZTH 485 144 197 75 44 18 7 0
KBEMTH 436 128 166 73 50 14 4 1
KBERTH 338 115 114 53 45 9 0 2
KBEARTH 532 196 169 98 51 14 4 0
KHBEETH 289 72 112 52 36 16 1 0
KEFch 100 26 33 22 16 1 2 0
KEFH 143 21 23 29 44 20 5 1
tMREHRE—TH 343 106 112 71 40 12 2 0
tHMREHREZTH 254 75 82 42 41 13 1 0
tREHE=TH 269 97 74 50 41 6 1 0
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X% HEDSEH [TAHT [2AfE [SAHE [4AHE [SAHES [6 At [7ZAUEDHGE
MRF—TH 654 267 172 107 84 20 3 1
tRFE-THE 368 132 89 70 51 18 7 1
tRFE=TH 654 199 167 135 118 31 3 1
tRIE—TE 130 49 45 20 12 4 0 0
tRIE-TE 322 142 83 57 29 8 3 0
MZE—TH 36 13 10 5 6 2 0 0
tMZEZTH 43 18 10 9 3 3 0 0
MZE=TH 133 42 48 21 19 2 1 0
MZEMTH 276 69 81 72 42 8 2 2
BMR—TH 342 175 110 36 18 1 2 0
BMR=-TH 643 172 137 127 147 51 8 1
BMR=TH 357 109 96 52 75 23 2 0
EtRMTH 86 32 10 18 20 5 1 0
EtMRAETH 352 96 71 67 80 37 1 0
HEFAE—TH 472 150 105 83 93 37 3 1
HEFAE_TH 23 9 8 2 2 2 0 0
HHEA=TH 53 18 19 8 5 3 0 0
HHEANTH 18 7 7 4 0 0 0 0
BHEF—TH 151 61 48 23 14 4 0 1
HHEF-THE 186 63 65 25 28 4 0 1
HEHHBZ=TH 246 73 90 44 28 11 0 0
HHETMTH 9 3 4 1 1 0 0 0
BHEGTRETH 8 5 1 2 0 0 0 0
BRHEERE—TH 10 7 2 1 0 0 0 0
BETA—TH 1,019 369 312 184 120 29 5 0
HESA=-TH 266 93 70 49 44 9 1 0
HESA=TH 134 25 21 16 57 13 2 0
HEFAMETH 47 40 5 1 1 0 0 0
+H—TH 257 111 76 41 26 3 0 0
+H_-TH 564 258 112 78 88 25 2 1
+$H=TH 654 280 184 104 66 14 4 2
FHIETH 12 4 4 1 1 2 0 0
$HAETH 420 143 101 63 86 25 2 0
FHEANTH 255 112 52 40 39 10 1 1
EFA—TH 42 13 12 7 8 2 0 0
EFA=TH 370 156 117 59 29 9 0 0
EFA=TH 536 218 124 87 83 22 2 0
ERAMTH 430 191 107 68 45 14 5 0
EFARTH 224 97 57 36 28 5 1 0
E¥ANTH 456 179 84 81 80 24 7 1
E¥AETH 318 115 85 51 51 14 2 0
E¥%A/NTH 515 156 154 88 86 30 1 0
&5t 26,353 9,934 7,434 4,257 3,509 1,028 154 37




